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Gas Laws Mixed Review- Show ALL your work and circle your final answer. Remember SI units!


1. A gas at 138 kPa of pressure in a 0.500 L container is transferred to a 1.00 L container.  What will the pressure of the gas be in the second container?

Gas Law = _________________

2. A sample of gas under a pressure of 720 mm Hg has a volume of 300. mL.  The pressure is changed to 800. mmHg.  What volume will the gas then occupy?

Gas Law = _________________ 
3. The gaseous contents in an aerosol can are under a pressure of 3.00 atm at 25°C.  Directions on the can caution the user to keep the can in a place where the temperature does not exceed 52°C.  What would the pressure of the gas in the aerosol can be at 52°C ?
Gas Law = _________________

4. A quantity of gas occupies a volume of 800. mL at a temperature of -127°C.  If pressure remains constant at what temperature will volume of the gas be 600. mL?
Gas Law = _________________ 
5. What volume will a quantity of gas occupy at –23°C, if its volume is 500 mL at 52 °C ? 

Gas Law = _________________
6. A quantity of gas under a pressure of 560. kPa has a volume of 600 mL.  The pressure is changed to 400. mmHg.  That will the volume be?
Gas Law = _________________
7. A quantity of gas has a volume of 400. mL when confined under a pressure of 600. mm Hg.  What will the new pressure be if the volume is reduced to 200. mL?

Gas Law = _________________

8. An aerosol can contains gasses under a pressure of 4.50 atm at 20.0°C.  If the can if left on hot sandy beach, the pressure of the gasses increased to 4.80 atm.  What is the Celsius temperature on the beach?

Gas Law = _________________
9. A quantity of gas has a volume of 2.00 L at a temperature of -3°C.  If the temperature of the gas is raised to 27°C at constant pressure, what volume will the gas occupy.  

Gas Law = _________________

10.  Before a trip from New York to Boston, the pressure in an automobile tire is 1.8 atm at 20°C.  At the end of the trip, the pressure gauge reads 1.9 atm.  What is the new Celsius temperature of the air inside the tire?

Gas Law = _________________
